
Quiz 3 

Melbourne Bridge Club 

Opening One No Trump 
 

1. Count the High Card Points in each hand. What should your opening bid be? 
 

 AJ72  KQ76  AKJ84  K854  K765  KQJ9 

 A84   KQ95  Q64   K973  AQ9  1092 

 KJ4   -   K85   AQ7  KJ8   876 

 QJ7   KQ976  K3   AK   K102  AKQ 
 
HCP   ____    ____    ____    ____    ____    ____ 
Bid   ____    ____    ____    ____    ____    ____ 
 
2. Partner has opened the bidding with 1NT. What should your response be? 
 

 AK962  K7   J1063  107   10865  KJ10862 

 98   Q95   Q1086  KQ1063  J10853  7 

 104   87642  97   A973  65   K32 

 7652  Q53   A103  QJ   86   KJ6 
 
HCP   ____    ____    ____    ____    ____    ____ 
Bid   ____    ____    ____    ____    ____    ____ 
 

3. You opened 1NT and partner has bid 2. What should your response be? 
 

 AK42  10874  K96   AK2   KQ83  KJ7 

 QJ96  KQ   K64   J1096  8643  1086 

 K4   AQ73  AK76  K87   AK   AQ6 

 K92   AJ7   K87   AJ9   AJ6   AQ98 
 
Bid   ____    ____    ____    ____    ____    ____ 
 
4. You opened 1NT and partner has bid as follows. What should your response be? 
 

Bid     2        3       2NT       3       2        3     
 

 AJ109  J1087  QJ83  AJ2   K103  AJ9 

 KQ84  KQ   A75   A95   8643  KJ109 

 K4   KQ73  K106  QJ10  AQ105  KJ8 

 A92   AQ5  AK6   A962   AK   A108 
 
Bid   ____    ____    ____    ____    ____    ____ 
 
 
 


